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(m) (m) (kN/m) EBBf(m) (m) (kN/m) (m) (m) (kN/ ) (m) (m) (kN/m)
] 100kN/MZEBZ 5 1.00|0.00 ~ 0.69 110.34| 3m%EEZx % =l ~ = = —| 100kN/ %8B X% 1.00] 10.70 ~ 12.84 110.34| 3mZEEZ % =l ~ - - -
ZzHnest 1.00|0.69 ~ 848 100.00| Zhkist | 0.00 ~ 8.48| 2.10 11.25 et 1.00] 500 ~ 10.70 100.00| Zhkist | 5.00 ~ 12.84] 2.10 11.25
9 100kN/MZEEZ 5 1.00|]0.00 ~ 1.04 115.69| 3m%EEZx % =l ~ = = —| 100kN/ %8B X% 1.00] 11.07 ~ 1494 115.69| 3mZEEZX % =l ~ - - -
ZzHnest 1.00|1.04 ~ 8383 100.00| #hkist | 000 ~ 8.83| 2.04 10.92 et 1.00] 500 ~ 11.07 100.00| Zhilst | 5.00 ~ 14.94| 2.04 10.92
3 100kN/MZEEZ 5 1.00|0.00 ~ 049 107.28| 3SmZEEZx % =l ~ = = —| 100kN/ %8B X% 1.00| 1264 ~ 1492 107.28| 3mZEEZX % =l ~ - - -
ZzHnest 1.00]049 ~ 8.28 100.00| Z#heist 1000 ~ 8.28] 1.93 10.34 et 1.00] 500 ~ 12.64 100.00| Z#hList | 5.00 ~ 1492 1.93 10.34
4 100kN/MZEEZ 5 1.00]0.00 ~ 091 113.59|3m%EEZx % =l ~ = = —| 100kN/ %8B X% 1.00] 1257 ~ 17.33 113.59|3m%EEZx % =l ~ - - -
ZzHnest 1.00]091 ~ 8.69 100.00| Zhklst | 000 ~ 8.69| 2.10 11.25 et 1.00] 500 ~ 1257 100.00| #hList | 500 ~ 17.33] 2.10 11.25
5 100kN/MZEEZ 5 1.00|0.00 ~ 0.86 112.86|3m%EEZx 5 =l ~ = = —| 100kN/ %8B X% 1.00] 11.69 ~ 15.26 112.86|3mZEEZ 5 =l ~ - - -
ZzHnest 1.00|0.86 ~ 8.64 100.00| Z#helst | 000 ~ 8.64| 2.16 11.54 et 1.00] 500 ~ 11.69 100.00| Z#hkist | 500 ~ 1526 2.16 11.54
6 100kN/MZEEZ 5 1.00|0.00 ~ 0.23 103.43| 3m%EEZx % =l ~ = = —| 100kN/ %8B X% 1.00] 1231 ~ 13.25 103.43| 3mZEEZ % =l ~ - - -
ZzHnest 1.00]0.23 ~ 8.02 100.00| Z#helst 1000 ~ 8.02| 1.95 10.43 et 1.00] 500 ~ 1231 100.00| Z#hkist | 500 ~ 13.25] 1.95 10.43
7 100kN/MZEEZ 5 1.00|]0.00 ~ 124 118.75| 3m%E#EZx % =l ~ = = —| 100kN/ %8B X% 1.00| 12.64 ~ 20.32 118.75| 3mZEEZX % =l ~ - - -
ZzHnest 1.00]1.24 ~ 902 100.00| Zzheist 1000 ~ 9.02| 2.39 12.81 et 1.00] 500 ~ 12.64 100.00| Z#hkist | 5.00 ~ 2032 2.39 12.81
8 100kN/MZEEZ 5 -l -~ = -[3mZEEZ B -~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = =
ZzHnest 1.00]0.00 ~ 594 7443 #hlst 10.00 ~  0.00| 1.57 8.42 et 1.00] 500 ~ 737 7443 #hlst | 500 ~ 737 1.57 8.42
9 100kN/MZEEZ 5 -l -~ = -[3mZEEZ B -~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = -
ZzHnest 1.00]0.00 ~ 7.73 99.23| =hLst [0.00 ~ 773 248 13.25 et 1.00] 500 ~ 11.85 99.23| =LAt | 500 ~ 11.85| 2.48 13.25
10 100kN/MZEEZ 5 1.00|0.00 ~ 0.67 109.94| 3m%EEZ % =l ~ = = —| 100kN/ %8B X% 1.00] 10.80 ~ 12.92 109.94| 3mZEHEZ % =l ~ - - -
ZzHnest 1.00|0.67 ~ 845 100.00| Z#heist 1000 ~ 8.45| 2.08 1113 et 1.00] 500 ~ 10.80 100.00| #hList | 5.00 ~ 1292 2.08 1113
. 100kN/MZEEZ 5 -l -~ = -[3mZEEZ B -~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = -
ZzHnest 1.00]0.00 ~ 541 67.52| =hLst [0.00 ~ 0.00| 1.61 8.62 et 1.00] 500 ~ 6.15 67.52| =hLst | 500 ~  6.15] 1.61 8.62
19 100kN/MZEEZ 5 -l -~ = -[3mZEEZ B -~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = -
ZzHnest 1.00]0.00 ~ 5,51 68.74| ThLst 000 ~ 551 1.74 9.33 et 1.00] 500 ~ 6.04 68.74| ThLst | 500 ~ 6.04] 1.74 9.33
100kN/MZEEZ 5 ~ IMEERD ~ 100kN/MZEBZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
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